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Coordinate Procis

Coordinate proofs are used to prove quadrilaterals or properties of quadrilaterals
using the coordinate plane.
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Parallelogram:

A Quad with both pairs of opposite sides parallel
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Rhombus:

A Quad with 4 congruent sides
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Square:

A Quad with 4 right angles and 4 congruent sides e
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Trapezoid:
A Quad with one pair of parallel sides and one pair of non-parallel sides
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Isosceles Trapezoid:

A Quad with one pair of parallel sides and one pair of congruent non-parallel sides
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Kite:
A Quad with two pairs of adjacent sides congruent and no opposite sides congruent
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To Prove a Quadrilateral is a Parallelogram
Show ONE of the following:

1. BOTH pairs of opposite sides congruent.
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2. BOTH pairs of opposite sides parallel.

H 5 Iopé

(;rMu[CkS

formu\cxs

2 Olléx'fnce, Oncp 2_

S Diagonals bisect each other.
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X 3. ONE pair of opposite sides congruent AND parallel.
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/I’o Prove a Quadrilateral is a Rhombh
First, prove it’s a Parallelogram
Then, show ONE of the following:
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To Prove a Quadrilateral is a Rectangh

First, prove it’s a Parallelogram
Then, show ONE of the following:

S @ Diagonals congruent.
2_ O\ ) gh:ev'\ e

2. One right angle.
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To Prove a Quadrilateral is a Square
First, prove it’s a Parallelogram
Then, prove it’s a Rhombus
Then, prove it’s a Rectangle.




Non-Parallelograms

/ To Prove a Quadrilateral is a Trapezoid \

Show|BOTH|of the following:

1. ONE pair of opposite sides parallel.
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2. ONE pair of opposite sides r_lon-gara{lel.
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/ To Prove a Quadrilateral is an Isosceles Trapezoid\

First, show it’s a trapezoid
Then, show] ONE]of the following:

1. NON-PARALLEL sides are Ebnéruent.)
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2. Diagonals are congruent.
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/ To Prove a Quadrilateral is a Kite \

Always Prove by Definition
Show BOTH

1. 2 pairs of adjacent sides congruent.
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2. No opposite sides congruent.
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- Ceerdingte Proots Practice

24) The vertices of quadrilateral KLMN are K(-1,0), L(0,-3), M(2,1) and N(1,4). Show

that KLMN is a parallelogram.
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25) Quadrilateral DEFG has vertices D(-4,0), E(0,1), F(4,-1), and G(-4,-3). Show that
DEFG is a trapezoid and not an isosceles trapezoid.
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26) Jim is experimenting with a new drawing program on his computer. He created

quadrilateral TEAM with coordinates T(-2,3), E(-5,-4), A(2,-1), and M(5,6). Jim
believes that he has created a rhombus but not a square. Prove that Jim is
correct.
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27) Quadrilateral MNBVY has coordinates M(-2, 7), N(2, 5), B(Z, -5), and V(-4, 3).

Prove that MNBY is a kite.
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- 28) Ashanti is surveying for a new parking lot shaped like a parallelogram. She knows
that three of the vertices of parallelogram ABCD are A(0,0), B(5,2), and C(6,5).
Find the coordinates of point D and sketch parallelogram ABCD on the
accompanying set of axes. Justify mathematically that the figure you have drawn

is a parallelogram. y
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29)Given: A(-2,2), B(6,5), C(4,0), D(-4,-3) TG BT Rl
Prove: ABCD is a parallelogram but not a rectangle.
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30) Quadrilateral KATE has vertices K(1,5), A(4,7), T(7,3), and E(1,-1).

a. Prove that KATE is a trapezoid.
b. Prove that KATE is not an isosceles trapezoid.
c. Prove that the diagonals do not bisect each other
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31) Triangle HKL has vertices H(-7, 2), K(3, -4), and L(5, 4). The midpoint of HL is M

e and the midpoint of KL is N.
a. Determine and state the coordinates of point M and N.
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